JAK5.7 | refraction.vert

vec3 calcRefract (vee3 I, vec3 N, float nRatio, int flagInverse)

{//BIFRY FILOFE
if (flagInverse == 1) {//HREAHMKELUT
N = - N;
nRatio = 1.0 / nRatio;
}
float cosIN = dot(-I, N);
float a = nRatio * nRatio - 1.0 + cosIN * cosIN;
if(a < 0.0) return reflect(I, N);//ERE&f
else return (I - N *(sgrt(a) - cosIN)) / nRatio;

}

varying vec3 P;

varying vec3 N;

varying vecd Refract;
uniform matd4 ViewTranspose;
uniform float nRatio;
uniform int flagInverse;

void main (void)
{
P = vec3 (gl ModelViewMatrix * gl Vertex);
N = normalize (gl NormalMatrix * gl Normal);
vec3 incident = normalize (P);//fR#E (AFH T KL
vec3 T = calcRefract(incident, N, nRatio, flaglInverse)
Refract = ViewTranspose * vec4 (T, 0.0) ;
gl Position = ftransform();
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